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[9].

{11).

[12]

[13]

[14]

[15].

The obligations of computing professionals are similar to the obligations of other
technical professionals, such as civil engineers. Taken together, these professional
obligations are called ....................

(A) professional laws
(B) professional bounds
(C) professional ethics

- The responsibility of ap individual who is assigned a task or function is classified as

(A) Causal Responsibility
(B) Role Responsibility
(C) Moral Responsibility

Members of a strongly differentiated profession have specialized knowledge and
skills, often called a ........................

(A) knowledge database
(B) body of knowledge
(C) knowledge System

when professionals interact with each other, they should demonstrate a kind of
respect called ....................

(A) collegiality
(B) friendship
(C) honor

individual professionals know that their work must be evaluated by other members
of the same profession. This is called ............

(A) continuous review

(B) second review
(C) peer review

For computing professionals, such codes have been developed by ......
(A) IEEE

(B) ACM

(C) All the above

In general, a ............. is known to be the one who leaks out information on
wrongful activities to public.

(A) spy
(B) whistleblower
(C) None

Q2: True or False

[2).

[3].

laws often help advances in technology.

(A) True

(B) False

moral responsibility tends to be shared

(A) True

(B) False

the professional must keep Employers’® information confidential

(A) True
(B) False
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f4].

[5].

[6].

[7.

[8].

[91.

[10).

[11].

[12}.

[13]

[14}.

[15]

According to engineering codes of ethics, the engineer’s most important obligation
is to ensure the safety only.

(A) True

(B) False

The obligations of computing professionals are not similar to the obligations of
other technical professionals

(A) True

(B) False

Every employee is expected to work loyally on behalf of the employer.

(A) Troe

(B) False

Managerial roles simplify the responsibilities of computing professionals

(A) True

(B) False

The ACM is one of the largest profit scientific and educational organization
devoted to computing.

(A) True

(B) False

The code is composed long version only.

(A) True

(B) False

Any code of ethics is necessarily complete.

(A) True

(B) False

a code must be written in general language

(A) True

(B) False

each statement in a code doesn’t require interpretation to be applied in specific
circumstances.

(A) True

(B) False

whistleblower can be someone whe is current or past employee of the organization
(A) True

(B) False

Whistleblowing is the disclosure by organization members of illegal, immoral to
persons that may be able to effect action

(A) True

(B) False

Organizational dissent is an expression of disagreement or opposing opinions
regarding organizational practices or policies.

(A) True

(B) False

with my best wishes Dr: Reda M. Hussien
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Kafrelsheikh University Probability and Statistics Time: 3 Hours
Faculty of Computers& Information Second year
The second semester exam. (2018-2019) Date: 27-5-2019

Answer the following questions
1- (a) Let the events A4, 4,,......4, is said to partition a sample space S and Bis any

event within S,
Then prove that  P(B) = P(B/A4)P(4,)
=1
(b) A discrete random variable .Y has the following probability distribution.
x -1 0 1 4

P(x)] 0205 a 0.1
Find: a, P(x>0), P(x<2) and the mean yof X

2- () If x Random variables and M (1) (m. g f.), v=ax+b
Then prove that M (1) =e” M (at)
{b) If the variance o = (x— u)* P(x)

then prove that the variance by algebra is equivalent to the formula

o’ =Y X’ P(0)]- i

3- In the experiment of the rolling a single die, find the intersection £ 7
of the events E: ""the number rolled is even" and T :" the number rolled is greater
than two" :

4-If the density function f(x)for random variable is

Fg {ﬂe"" )

0 otherwise

Find the moment generating function (m.g.f) & variance and standard deviation (S.D).

5-A pair of fair dice is rolled .Let X denote the sum of the number of dots on the
top faces.
a-Construct the probability distribution of X .
b- Find P(X > 8).
c-Find the probability that X takes an odd value.

With my best wishes
Prof. Dr. Osama Abo-Seida
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Hnal Exam or
Data Structures and Algorithms (CS211)
2018/2019 (Second Term)
Date: 10/6/2019
Time : 3ry
(28 Marks)
(D) Chose the correct answer for the following sentences. write only the choice: (14 Marks)
(1) A linear collection of data elements where the linear node is given by means of
pointer is called .........
(a) Array List (b) List (¢) Linked List (d)Nothing
(2) In linked list each node contain minimum of two fields. One field is data field to
store the data, second field is ...cccenenee
(a) Pointer to character  (b) Pointer to integer (d) Nothing
(3) What would be the asymptotic time complexity to find an element in the linked list?
(a) O(1) () O(m) © 0@ (d)Nothing
(4) Consider the following operation performed on a stack of size 5.
Push(1); Pop( ); Push(2); Push(3); Pop( ); Push(4); Pop( ); Pop( ); Push(5);
After the completion of all operation, the number of elements present in stack are...
(a) One element (b) Two elements (c) Three elements  (d)Nothing

| (5) If the elements “A”, “B”, “C” and “D” are placed in a stack and are deleted one at a
time, what is the order of removal? .........

Aarrelsnelkn Universiy
Faculty of Computers and Information
Department of Computer Science

(c) Pointer to node

(a) ABCD (b) DCAB (c)DACB (d)Nothing
(6) Which of the following is false about a binary search tree? vi..oereeree
(a) The left child is (b) The right child is (c) The left and right (d)Nothing
always lesser than always greater than its sub-trees should
its parent parent also be BST

(7) What is the idea about the in-order traversal of a Binary Search Tree?

(a) It raversesinanon  (b) It traverses in an (e)Ittraversesina  (d) Nothing
increasing order increasing order random fashion

(8) What does the following piece of code do?,
public void ff(Tree roof){ fi(root.left()); fi(root.right()); Console. Writeline(root.data();}
(a) Preorder traversal  (b) Inorder traversal  (c) Postorder traversal  (d)Nothing
(9) What are the worst case and average case complexities of a Binary Search Tree?
(a) O(n), Om) (b) Oiogn), O(m) (¢) O(n), O(logn) (d)Nothing
(10) What is a hash table? .. hash table s ....... .

(a) A structure that (b) A structure that
maps values to keys  maps keys to values

(¢) A structure used to  (d)Nothing
implement stack

.~  and Write the Code by C# to implement this technique.

e Lo Olkd ,vrb

marreisnelkh unmversity Inal gxam ot

Faculty of Computers and Information Data Structures and Algorithms (CS211)
Department of Computer Science 2018/2019 (Second Term)
Date: 10/6/2019
Time : 3hrs
(11) The number of edges from the root node to the deepest leaf is called .....
(a) Height of tree (b) Degree of tree (c) Length of tree (d)Nothing

(12) In full binary tree, each node has exactly zero or two children. In this tree, if there
are L leaves, then total number of nodes N in the tree are?

(a) N=2L M N=L+1 - ©N=2L-1 (@ N=L-1
(13) Which of the following array element will return the ?u.on -the-stack-element for a

stack of size N elements? ....

(a)S[N+1] (b) S[N-1] (e} S[N] (d)Nothing
(14) ...... Selects the minimum element from unsorted sub-list and places it into the

sorted list. This iterates unless all the elements are consumed into sorted sub-list.

(a) Insertion Sort (b) Bubble Sort (c) Selection Sort (d)Nothing

s (14 Marks)

(1) The data structure required for Breadth First mow_,ov traversal on a graph or tree is a
Stack data structure.

(2) The big-O notation for Insertion sort algorithm is O(Nlog(n)), and The big-O notation
for Binary search algorithm is OQN?).

(3) In Linked List, each element contains its value and two pointers — to the previous and
to the next element.

(4) In Nested Loops block in our program, the worst case time is slower and computed by
Max(time(bl), time(b2)).

(5) Random.Next(Int32) is a method returns a random floating-point numbers that is
greater than or equal to 0.0 and less than 1.0.

(6) Tree height is the maximum of the degrees of all nedes in the tree data structure,

(7) Parents nodes are all nodes, which are not leaf or root (i.e. have parent and at least one
child).

(A) Explain the technique used for Searching for an Element in Binary Search Tree (BST),
and Write the Code by C# to Search for an Element in BST. (6 Marks)

(B) Write steps of the technique which used to find the maximum value in an unsorted-array,
(6 Marks)
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Kairelsheikh University Final Exam of
Faculty. of Computers and Information Data Structures and Algorithms (CS211)
Department of Computer Science 2018/2019 (second term)
Date: 10/6/2019
Time: 3hrs :
( 20 Marks)
1. Write the output of the following Codes in C# and compute Big-O. (10 Marks)
A (B)
S?ﬁc void Main{swringf} args] static void Main(string[] args)
Queue<string> queuel = new Quevecstring={); {
quensel. Engueued"MCA"); {
provod oo Al . ok
queueilEnqéeué{"BBA"); z::ki.i:e‘; Et::\!fl(:;t:nﬁ:ié)'
Console. Writeline("The slements in the queus are:*); for(int j=0:i<a Length)-’i++) ?
foreach {string s in queuel) { A *
{ i
Consabe, Writetine(s); ) S.Push(a[i]);
¥
quaueL,Dequsue]); for(int i-@;i<a.Length;itt)
. % { ‘
quewel Dequase]l; int item = (int)S.Pop();
Console. WriteLine{"After removal the elements in the queue are:™); if (item % 2 == 0)
foreach {string s in queuei} {
{ continue; }
Console. Writeline(s); else
3} { b.Add(item);
Console WriteLine{"Peek the first item from the queue is:" + queusl.feek{}}; 1
S Con 3)1 WriteLine("output :")
ansole. WriteLina{“Peck the next item from th is" + k ; 206 UL 24
Console.WriteLing{*Peak the next item from the queue is:” + quael.Peek()); For(int i=03i<b.Count;i++)
Queve<string> queue2 = new Queue<string>{quevel.ToArmray(}) {
f::it:’g:;:g:eﬁw:::':gm oF Kheicopy. J; Console.MriteLine(d + " ™ + b[i]);
't m i
{7 } "
Console. WriteLine{n): Console.ReadKey()3
. }
} 1
}

II. Write a program, which reads from the console N integers and prints them in reversed

order with using Queue<int> class . (4 Marks)

II1. Suppose you have list of 9 elements as example [20, 31, 55, 60, 90, 110, 150, 158, 170].
Using the Binary Searching Algorithm to Search about (110) in this List. (6 Marks)

With best wishes;
052 1
Dr. Osama M) Abu Zaid
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Department of Information systems
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Kafrelsheikh University Final Exam of
Database Fundamentals (IS212)
2018/2019 (second Term)

Date: 23/5/2019 — Time:3 hrs

Q1) Choose the correct answer: (15 points)

1.

10.

11

12.

13.

14.

1s.

16.

17.

18.

19.

20.

2L

22,

A ___is an executing program or process that includes one or more database access.

a) transaction b) object ¢) procedure d) application
determines the requirements of end-users and develop specifications for those requirements.

a) database administrators  b) application programmers c) auditors d) system analyst
is a collection of programs that enables users to create and maintain a database.

a) RTS b) IS ¢) DBMS d)y Al

is the ability to change the schema at one level of a database system without having to change the schema at
next higher level.

a) data exchange b) data dependence ¢) data binding d} data independence
_ language is used to define both the internal and conceptual scheme when there is no separation between these

schemes.

2) DDL b) DML ¢) VDL d) SDL

____imay contain virtual data that is derived from the database files or may be a subset of the database

a) A query b) A data model ¢} DBMS d) A view

data independence changes the conceptual scheme without changing the external scheme.

a) physical b} logical ¢) low-level d) internal
language is used to specify the internal schema.

a) DDL b} DML ¢) VDL d) sSDL

The description of a database is called database

a) schema b) structure ) construct d) implementation
diagrams are important part of object modeling methodology.

a) ER b} Relational data c) level d) class
attributes can have more than one value.

a) composite b) simple ¢) multi-valued d) single valued

The type of data independence in which conceptual schema can be modified without modifying the External schema is
classified as

a) Physical data b} Conceptual Level ¢) External Level d) Logical data

independence independence independence independence

The attribute of a relation schema R which it is not a member of any candidate key is

(a) prime attribute (C) undefined attribute (b) non-prime attribute (d) Super key

An entity type without a key attribute is called _ entity type.

a) null b) weak c) strong d) single

NATURAL JOIN operation is denoted by,

a)U b )X dy *

In ER diagrams, the total participation is displayed as a

a) oval b) single line c) double line d) arrow
constraint can be expressed in schema of relational model by using DDL.

a) schema-based b) inherent model-based ¢) application-based d) system-based

constraint specifies that no two distinct tuples in any state of relational schema can have same values for

superkeys.
a) entity-integrity b) domain ¢) referential-integrity d) key

_ constraint states that no primary key value can be null.
a) key b) domain c) referential-integrity d) entity-integrity

is the data model that provide concepts that may be easily understood by end user but aren’t far removed from the
way data is organized in computer storage
a) Conceptual datamodel  b) Representation data model ¢) Physical data model  d) None is true

consiraint states that a tuple in one relation that refers to another relation must refer to an existing tuple in that
relation.
2) key b) domain ¢) referential-integrity d) entity-integrity
symbol is used to denote the SELECT operation.
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a) X b)o c)p dyx
23. __ symbolis used to denote the PROJECT operation.
a) X b)o c)p dr
24.  The user of the financial software package that stores a variety of personal financial data is an exampleof
a) parametric users b) naive users ¢) standalone users  d) sophisticated users
25. __ symbol is used to denote the RENAME operation.
a)X b)o c)p dyn
26. operator is binary.
a) INTERSECTION b) PROJECT ¢) SELECT d) RENAME
27. Theresult of R (A1, A2, ..., An) X § (B, By, ..., Bn) is arelation with ______ attributes.
ayn+m byn—m cyn*m dym-n
28. ___ operation can be expressed as a sequence of 7, X, and — operations.
a) DIVISION b) UNION ¢) JOIN d) CARTESIAN PRODUCT
29, R___ S=RUS)-(R-S)U(S-R))
U b N X dyn
30. The JOIN operation where only matching tuples are kept in the result are called _____ joins.
a) outer b) external c) inner d) related

Q2) List and write a short Notes about the people associated with the database. (5 points)
Q3) List and write a short Notes about the three levels of three-tier architecture? (3 Points)

Q4) Consider the universal relation R = {4, B, C, D, E, F, G, H, I, J} and the set of functional dependencies
F={{4, By—{C}, {4}~ {D, E}, {B}~{F}, {F}—{G, H}, {D}—{l,J}}. What is the key for R? Decompose
R inito 2NF and then 3NF relations. (5 Points)

Q5) Write down SQL queries for the following relational algebra expressions: (5 points)

1. 6 (Dno=5 AND Salary>30000) (EMPLOYEE)

2. TFname, Luame, Salary (6 Dno=5 (EMPLOYEE))

3.
SMITH < & Fname=*John’ AND Lname=‘smit' (EMPLOYEE)
SMITH_PNOS «— 7 pro (WORKS_ON 0 gssn=ssn SMITH)
SSN_PNOS «— 7 gssn, pno (WORKS_ON)
SSNS(Ssn) «— SSN_PNOS + SMITH_PNOS
RESULT «— 7 Fname, Loame (SSNS * EMPLOYEE)
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Q6) Consider the following ER schema for the MOVIES database. (8 point) Assume that MOVIES is a
populated database. ACTOR is used as a generic term and includes actresses. Given the constraints shown in
the ER schema, respond to the following statements with True, F alse, or Maybe. Assign a response of Maybe
to statements that, although not explicitly shown to be

True, cannot be proven False based on the schema as N
PERFORMS_IN

LEAD_ROLE
2 N

shown. Justify each answer.

Mowvt

1. Every director has been an actor in some movie.

2.No producer has ever been an actor

3.Some producers have been a director as well. [

ALSO_A_
DIRECTOR

4.Most movies have one director and one (HASTORS
1
producer. b KL —

5.A producer cannot be an actor in some other

: ¥ Groouoes st ——
movie.

6. There are movies with more than a dozen actors.
7.Some actors have done a lead role in multiple movies.

8.There are some actors who have done a lead role, directed a movie, and produced a movie.

Q7) Consider a CONFERENCE_REVIEW database in which researchers submit their research papers for
consideration. Reviews by reviewers are recorded for use in the paper selection process. The database system
caters primarily to reviewers who record answers to evaluation questions for each paper they review and make
recommendations regarding whether to accept or reject the paper. The data requirements are summarized as

follows:

* Authors of papers are uniquely identified by e-mail id. First and last names are also recorded.

¢ Each paper is assigned a unique identifier by the system and is described by a title, abstract, and the
name of the electronic file containing the paper.

* A paper may have multiple authors, but one of the authors is designated as the contact author.

* Reviewers of papers are uniquely identified by e-mail address. Each reviewer’s first name, last name,
phone number, affiliation, and topics of interest are also recorded.

* Each paper is assigned between two and four reviewers. A reviewer rates each paper assigned to him or
her on a scale of 1 to 10 in four categories: technical merit, readability, originality, and relevance to
the conference. Finally, each reviewer provides an overall recommendation regarding each paper.

* Each review contains two types of written comments: one to be seen by the review committee only and
the other as feedback to the author(s).

Design an entity-relationship diagram for the CONFERENCE_REVIEW database. (7 points)
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Q8) Consider the database shown in the following figure:

COURSE
STUDENT Course_name | Gourse_number | Credit_hours, | Department
Name Student_namber Ciass Fiajer Intro to Computer Science Cs13t0 4 cs
: Date Structures 53320 4 [s5)
Smith 17 ! cs Discrete Mathematios MATH2410 3 MATH
Brown 8 2 cs Datahase GSaam0 3 cS
SECTION GRADE_REPORT
Section_identifier | Course_number. | - Samester Year Instructor Student_nurmber . . Section_identifier . Grade
85 WATH2ATO | Fal o7 | King 7 Tz | B
92 Cs1810 Fall Q7 Anderson 17 119 G
102 C83320 Spring 211 Knuth 8 85 A
112 MATH2410 Fall 08 Chang 8 82 A
118 C381310 Fall 08 Anderson 8 102 B
135 83380 Falt 08 Stone 8 135 A
PREREQUISITE
Course_number Prerequisite_number
CS3380 83320
€83380 MATH2410
©83320 €81310

1.what are the referential integrity constraints that should hold on the schema? Write appropriate SQL

DDL statements to define the database. (2 points)

2. Specify the following queries in SQL on the database schema of the following figure.

1.

2.

3.

Retrieve the names of all senior students majoring in ‘cs” (computer science). (1 point)

Retrieve the names of all coutses taught by Professor King in 2007 and 2008. (1 point)

For each section taught by Professor King, retrieve the course number, semester, year, and number
of students who took the section. (1 point)

Retrieve the name and transcript of each senior student (Class = 4) majoring in CS. A transcript
includes course name, course number, credit hours, semester, year, and grade for each course
completed by the student. (1 point)

Retrieve the names and major departments of all straight-A. students (students who have a grade
of A in all their courses). (1 point)

Retrieve the names and major departments of all students who do not have a grade of A in any of

their courses. (1 point)

3. Write SQL update statements to do the following on the database schema shown in the following figure.

1
2
3.
4

Insert a new student, <*Johnson’, 25, 1, ‘Math’>, in the database. (1 point)

Change the class of student ‘Smith’ to 2. (1 point)

Insert a new course, <‘Knowledge Engineering’, ¢s43907, 3, ‘cs’ >. (1 point)

Delete the record for the student whose name is «Smith’ and whose student number is 17. (1 point)
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Academic Year
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Level Two
Data Communications
(T251)

(60 marks)
Kafrelsheikh University 2 Pages HollcgeniSomphfersiand

Date: 30/5/2019 Time: 180 minutes

Question number one: (30 Marks)

a. According to direction of transmission classify the following, then state
examples for each of them. (10 Marks)

s Wireless Transmission Media: Radio Waves, Microwaves and Infrared Waves
e Data Transmission Modes: Simplex, HDX, FDX.

b. A periodic signal has a bandwidth of 50 KHz. The highest frequency is 120
KHz. What is the lowest frequency? Draw the spectrum if the signal contains
all frequencies of the same amplitude 20V. The frequency of a signal is 100
MHZ. What is its Period in millisecond? (10 Marks)

c. If data to be transmitted is corresponding to the following polynomial
representation x* + x2 + 1 and predetermined divisor is 101, then determine
whether data bits are accepted, or not ? (10 Marks)

Question number two: (30 Marks)

a. Choose the most correct answer: (30 Marks)

1) Divides the physical channel and allocates one to each using Guard bands:
a. FDM b. TDM c. WDM d. CODM d.band d e. all true

2) Divides the physical channel and allocates one to each using frames:
a. FDM b. TDM c. WDM d.CDM d.bandd e. all true

3) Divides the physical channel and allocates one to each using chip code:
a. FDM b. TDM c. WDM d.CDM d.bandd e. all true

4) Is a technique by which different streams of transmission can be
simultaneously processed over a shared link:

a. Multiplexing | b. Flow Control | ¢. Data Transmission | d.aand c | e. none is true

5) Described as the capacity of a channel or medium carrying the
information from sender to receiver:

a. Transmission | b. Transmission c. Data d.aé&c |e noneistrue

media Mode Transmission

6) Refers to the leakage of signal from the medium due to undesirable
electrical characteristics of the medium:

Page 1 0of 2
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a. Radiation

b. Noise Absorption

¢. Attenuation

d. Bandwidth

d.band d I e. all h‘uew

7) Refers to

the susceptibility of the media to exte
cause distortion of data signal:

rnal electrical noise that can

a. Radiation

b. Noise Absorption

¢. Attenuation

d. Bandwidth

d.band d

e. all trﬂ

8) Refers to

loss of energy as signal propagates outwards. The amount of
energy lost depends on frequency:

a. Radiation b. Noise Absorption | c. Attenuation | d. Crosstalk | d.band d e. all true
9) Described as signal overflow from an adjacent wire:
a. Radiation | b. Noise Absorption | c. Attenuation | d. Crosstalk | d. bandd | e. all t‘rue—’
10)CRC technique is a control mechanism for:
a. Error b. Error Detection, | c. Error Detection and Correction, | e.all true
Correction,
11)For m data bits, r redundant bits are used, then the codeword have:
a. m+r bits, b. m+r+1 bits, c. m+r-1 bits, da&b e.all true

12)Bandwidth, delay, cost and easc of installation are properties for:

a. Transmission | b. Communication ¢. Guided and da&e e.all true
media, Channel, Unguided Media,
13)FDM is a technique used in:
a. Broadband b. Baseband ¢. Unidirectional da&ec e all true
Transmission, Transmission, analog wave,

14)[s a relatively safe way to send data, no electrical impulses are carried over it:

a. UTP Cable,

b. STP Cable,

c. Fiber-Optic Cable,

da&hb

e.all true

15)It is a costly method for data transmission as it requires n lines to transmit n
bits at the same time:

a. Serial b. Parallel c. Asynchronous d. Synchronous e.b&c
Transmission, | Transmission, Transmission, Transmission
16)Is a type of transmission well suited for keyboard type-terminals and paper
tape devices:
a. Serial b. Parallel ¢. Asynchronous d. Synchronous e.b&ec
Transmission, | Transmission, Transmission, Transmission
17)Is a type of transmission requires local buffer storage at the two ends of line
to assemble blocks:
a. Serial b. Parallel ¢. Asynchronous d. Synchronous e.a&d
Transmission, | Transmission, Transmission, Transmission

Best Regards

Dr/ Mai R, Ibraheem
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Year: 2018-2019 '
Final Exam
Instructor: Dr/ Amr AboHany

Time: 3 Hours
Total Marks: 60 Mark

System Analysis and Design — Second Level

Answer the Following Questions

Mark The Following Sentences with True or False and correct the false ones: 20 Mark

1) Physical Design defines what must take place, not how it will be accomplished.

2) A system is maintainable if it is flexible, scalable, and easily modified.

3) A system is reliable if it handles input and processing errors.

4) Data considerations: carefully consider any point where users receive output or provide input.

5)ERD is a graphic representation of all system entities and the relationships among them.

6) In Process-Centered Information System, the IT department supports the system for its users.

7) Transparent Interface allows users to correct errors easily.

8) Lower-level managers often want to see total figures and do not need supporting details.

9) An exception report displays only those records that meet a specific condition or conditions.

10) Prototyping allows users to check a model that represents system outputs, inputs and processes.

11) Design prototyping produces a full-featured, working model of the information system.

12) System requirements such as reliability can be tested adequately using a prototype.

13) Prototyping reduces the risk that occurs when a finished system fails to support business needs.

14) Structure charts show the program modules and the relationships among them.

15)Data couple shows a message which one module sends to another.

16) A module that performs a single function has a high degree of cohesion, which is desirable.

17) Modules that are dependent are loosely coupled, which is desirable, are easier to maintain.

18) In-house Software Development, transfer of information systems development, operation, or
maintenance to an outside firm that provides these services, for a fee.

19) UI describes how users interact with a computer system, and consists of all screens, output,
and features that affect two-way communications between the user and the computer.

20) In object-oriented design, each module represents a specific process, which is shown on a DED
and documented in a process description.

Describe by diagram Only: (10 Marks)
1) In-house Software Development Options.

2)Processing-Centered Information System Model.

3) User-Centered Information System Model.

4) System Prototyping.

5) Design Prototyping.

6) Main steps in application development.

7) Structure Charts.

Answer the Following Questions: (30 mark)

1) Draw FDD of Online Hotel Booking System.

A hotel reservation system works by processing secure online reservations made through a hotel’s
website. The data is then passed onto a backend system which can be accessed by hotels to manage
bookings. Other features may come with it ~ for example, the automation of reservation confirmation
emails. Small hotel managers and owrners recognize that technology is key to growing their business
and increasing their bookings overtime.
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2) Draw Context DFD of Online Car Rental System.
Car Rental System specializing in renting cars to clients. It is an online system through which clients
can view available cars, signup, login, view profile and book car. They even do not need to drive
themselves driver is available with car.

3) Student Enrollment System contains the following Use Cases (Add Student, Enroll in Class, Verify
Identity, Purchase Text book, Transfer Credit, View Student Information and Change Student
Information).

a. Draw Use Case Model.

b. Write Use Case Scenario for Add Student Use Case.
¢. Draw Activity Diagram for Add Student Use Case.
d. Draw Sequence Diagram.

4) Draw Class Diagram for Electronic Medical Records System.

EMR stands for Electronic medical records, which are the digitél equivalent of paper records, or charts
at a clinician's office. EMRs typically contain general information such as treatment
and medical history about a patient as it is collected by the individual medical practice.
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Question number one; (30 Marks)

a. Choose the most correct answer:

a. JIT,

1. Compiles the IL code into native code, which is CPU specific:

(20 Marks)

b. AJAX, c. Assembly, d. WCE, €. none is true,
2. Adds a script to the page which is executed and processed by the browser
using ScriptManager control and UpdatePanel:
a. JIT, b. AJAX, c. Assembly, d. WCF, e. none is true,
3. Common Language Specification means:

a. Common Type

System,

b. Guidelines for
declaration,

c. Interoperability, | d.all true,

4,
a. JIT,

IL code can be represented as :
b. AJAX,

5

c. Assembly,

d. WCF,

e, none is true,

a. View state,

A unified pipeline receives the first request for accessing application resource :

state,

b. Application

C. page state,

d. session state, | e. all true,

6.

a. Pre-initate,

Checks for the IsPostBack property and determines whether the page is a
postback.

7. Which event

b. Initiate,

c. Load,

d. BEvent handler

e. Pre-render,

server.
a. Pre-initiate, -

b. Initiate,

of the following is responsible for drawing the response from

c. Load,

d. Event handler

e. Pre-render,

a. Pre-injtiate,

b. Initiate,

Sets the themes and master pages, creates dynamic controls, and gets and sets
profile property values.

9.

¢. Load,

d. Event handler

e. Pre-render,

Allows importing namespaces, loading assemblies, and
controls with custom tag names.

a, Page Directives,

registering new

! b. Code Section,
i

c. Page Layout,

d. None is true

Page 1 0f2





image4.jpeg
10. Which of the following for a Button control allows executing server-side script,

when the button is clicked:

a The property onClientClick, | b. The event Button click, | c. a&b, | d. none is true,

11. Is fired when a user requests any page and has specified time.

a. View b. Application c. page state, | d. session
state, state,

state, | e.all true,

12. Is used to validate complex string patterns like an e-mail address:

Summary, validator, validator,

a. Validation | b. Regular expressions | c. Irregular expressions | d. Compare f. all

validator, true,

b. Consider a Submit button that prints Welcome on Labell, Illustrate the
events of ASP.NET Page Life Cycle in each phase when clicking the

button. (10 Marks)
Question number two: (30 Marks)
¢. Put the following page life cycle phases in the correct order: (10 Marks)
1. Instantiation of the controls on the page
2. Initialization
3. Page rendering
4. Execution of the event handler codes
5. Restoration and maintenance of the state
a. True or False with correction : (10 Marks)
1. Event Arguments has the following syntax: private String
EventName (Void sender, EventArgs e); ( )
2. Session_Events - is fired when a user requests a page and leaving
his device. ( )
3. The property OnClientClick for a Button control allows executing
server-side script, when the button is clicked. )
4. RequiredFieldValidator Control allows validating the input text by
matching against a pattern of a regular expression. ()
5. ASP.NET - File Uploading contains HtmlInputFile and FileUpload.

b. Create a html page having a button and two paragraphs, Using JQuery

Switch the view of the two paragraphs between hide and show (10 Marks)

Best Regards

Dr/ Mai R, [braheem
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Q1: Choose the correct answer

[

[21.

[3].

[4].

[51.

[6].

[71.

[8].

In Moor definition of computer ethics, He uses the phrase ........................... 50
as to take the subject matter of the field

(A) computer technology
(B) robotics
(C) development

Computer Ethical Issues is unique in the sense that ....

(A) There has always been issues of privacy, property and freedom.
(B) a new technology has been introduced that never existed before.
(C) computers do not necessary introduce new way of doing things

| of computers, computers can be shaped and molded to do any
activity that can be characterized in terms of inputs, outputs and connecting logical
operations.

(A) physical arrangement
(B) logical malleability
(C) physical malleability

James Moor defines ............... as "'the intentional use of the invisible operations
of a computer to engage in unethical conduct."”

(A) invisible ethics
(B) invisible abuse
(C) invisible programs

The second variety of the invisibility factor is ................eouss. values , those
values that are embedded into a computer program.

(A) the Presence of Invisible Programming
(B) Invisible Complex Calculation
(C) invisible ethics

Computing professionals perform a variety of tasks such as......

(A) design instruction pipelines for superscalar processors,
(B) diagnose timing anomalies in embedded systems
(C) All the above

Computing .................. are obligated to perform a Iot of tasks conscientiously
because their decisions affect the performance and functionality of computer
systems

(A) analyst
(B) professionals
(C) developer

Compnting professionals acquire specialized knowledge about .......
(A) digital system design

(B) society

(C) None
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